M35148-M-Rev.2-10.23

< GEINMA

PROFESSIONAL MEDICAL PRODUCTS

SUPPORTO A ROTELLE
ROLLING STAND

8030421049 (Gima 35148)

Importato da / Imported by:

Gima S.p.A.

Via Marconi, 1 - 20060 Gessate (Ml) Italy
gima@gimaitaly.com - export@gimaitaly.com
www.gimaitaly.com

Made in China

QM

S

‘
‘
'|‘44 I




5 ENGLISH GI MA

Instructions to User 4
In order to operate properly and get the best performance, please
read these instructions carefully before using this rolling stand.
This manual describes installation, operation, maintenance,
transportation and storage.

Please keep this manual for future reference!

1 Features \_ J
~

J

Silent castors Basket with handle  Install Basket Elevation angle Mounting
with brakes and hook adjustable plate lock

2 Intended Use
This product is intended for transferring equipment such as Patient Monitor, ECG Monitor, etc. to help
doctors work conveniently and effectively.

3 Photos

N N

-

el




G I M ENGLISH 6

4 Cleaning and Disinfection

1. Remove the monitor before cleaning the rolling stand.

2.1t is recommended to clean the rolling regularly. Only a non-corrosive cleanser is permitted. Dilute
cleansing products as per the manufacturers instructions.

3. Use a cloth with alcohol or your choice of cleanser to wipe the surface of the rolling stand, and dry it
with a clean cloth or leave to air-dry.

5 Dimensions and weight
Dimension: 503*461*H1050 mm

Weight (including package): 10KG
Dimension of package: 780*470*H185mm

6 Transportation and storage

1. Transportation
The rolling stand should be left in original packaging when being transported and kept dry and avoided
bumping.

2. Storage conditions:
The rolling stand should be kept in a dry and well ventilated room free from dust and corrosive gases.
If the stand is being stored in original packaging, stacking height should not exceed four layers, ware-
house should be room temperature.

7 Packing List
Base kit *1 Mounting plate*1 Support pillar *1
Castor "4 Installation tool *1

8 Troubleshooting

Problem Analysis Solution

Check the screws
and tighten if required

Elevation angle can be | Adjusting screws on the handle are too | Adjust the tightness according
adjusted loose / tight to the requirements

Support pillar shakes Fixing screws on the base may be loose

9 Installation
Part List

4
o

Part Name Qty
Mounting plate
Storage Basket
Support Pillar
Base

Castor

Screw M4-10/12
Screw M5-16
Screw M6-25
3mm spanner

0 |4mm spanner

=S| (N0 M=
alalpnlololalalalala




7 ENGLISH GI MA

Step 1:
Fix four castors into the related holes on the base.

Step 2:
Insert the support pillar into the base
and secure with M6-25 screws.

é N\

Install the spring gasket first,
then secure with M6-25

Insert into the base

Step 3 ( : \

Assemble the storage basket, and secure with

M4-10 and M4-12 screws according to the fol- - !“ —
lowing pictures M4-12 u =
M4-10 u i
15
L A,
N\ J

Step 4
Fix the bracket into the support pillar and se-
cure with M5-16 screws.

M5-16

GIMA WARRANTY TERMS
The Gima 12-month standard B2B warranty applies.



